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major students I
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Lesson 2 -- family
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Wangpeng: Zhe ge nuhaizi shr shiej

BXH  fEIREE, A
aowenzhong: Ta shi wo jigjie.
B XNBET RS
t “Wangpeng: Zhe ge nanhaizi shi
S Ey R AR 7

-Gaowenzhong: Bushi, ta shi wo dage de erzi.”
£ M RREF |
Wangpeng: Ni dagé
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home; family

X & jiating

family
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university; college
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NEHE daxuésh€ng

college student
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B you IX méi
To have; to exist (Grammar 4./5.) not

ﬁ in the Sense of “to Have”, “to Possess” or “to Exist.”
| | His always negated with )X instead of I~ | |

c TRERFFG? « EXEBRN A

Wang xiansheng you didi ma? W0 jia you wu ge rén.

- EXREFFEE,  NERE=ZANKRFEE,

Wang xiansheng you didi. Xiaogao jia you san ge daxueésheng.

- WBE=/HA , {RIE ?
WO you san ge ji€jie, ni ne?
- H& B = 1A1H,

W06 meiyou san ge jigjie.



I, if Nu.

J1

how many; some; a few

- {1 JLANEF B/ 56 55/ 1B 1H / k k ?

Ta yOu jl ge g€ge /didi/jiCjie/meimei?

° ﬁﬁn/ﬁ%ﬁﬂio

WO y(V)u ji ge xuésheng.
s RENLANFE ?

N1 y(v)u jige xuésheng.




kOu M o

( measure word for number of family members)

RREBJLAA?

Ni jia yOu ji kOu rén?

«EZXE___A A,

woO jia yOu kOu rén.



N.
KEF dag€

eldest brother

N.
—&BF ergé
Secend oldest




A Ii&vlng N U.

two; a couple of (Grammar 6.’

— and P both mean “two,” but they differ in usage. Pis used in front of common measure words

to express a quantity, e.g.(1). In counting, one uses —: e.g. (2). In compound numerals, — is
always used for the 2 on the last two digits, e.g. (3). But 222 you can call “:E:_I':” and

“HE=T=.

1. A

2. —. =, =, M@...

3. Z1+=(22). —H F(125)




] he Conj.

and

fRRBJLAA?

Ni jia yOu ji kOu rén?

BxRE Ao
woijia yOu kOu rén.
Y

YOu shui?

B8/ 005,88/ %5/ HIE /R




Give you 10min to ask fREY @,

f/REN.OA? B ?

* ask three of your classmates.
« FRMRRBEOAN?

Qingwén ni jid yOu jl kOurén?

B O Ao

« B ?

YOu shui?

/




N.

Chinese (language)

2y zhOngwén

N.

English (language )

- v4 ylngwén




I'ﬂE gOngzud N /V

job; to work




I'ﬂE gOngzud N /V

job; to work
i "€ng

A ; ] ctor



ﬁ& ZUo

to do

« (R AL ITE?

Ni zuo shénme gongzuo?

E= °
W6 shi




%B dOu adV-

both; all (Grammar 7.)

The word %B indicates inclusiveness. As it always occurs in front of a verb, it is classified as an adverb.
However, because it refers to something that has been mentioned earlier in the sentence, or in a

preceding sentence, it also has a pronoun-like flavor and it must be used at the end of an enumeration.

« TH., ERAMEXFHRFEE,
Wangpéng, Liyou hé Gaowénzhong doushi xuésheng.
« THHMZE=REA 2EID,

Wangpeng hé Liydu doubushi ltshi.

- TN B R Z BB IRIK

Wangpéng hé Baiyingai douydu meimei.

s BN P MEREXBEHE,

Gaowenzhong hée Liydu douméiyou didi.




%B dOu adV-

both; all (Grammar 7.)

The word %B indicates inclusiveness. As it always occurs in front of a verb, it is classified as an adverb.
However, because it refers to something that has been mentioned earlier in the sentence, or in a

preceding sentence, it also has a pronoun-like flavor and it must be used at the end of an enumeration.

. Wangpe and L|you are both 1 my classmates.

> THNFRMBERNEEF o

. Gaowenzhong, Liydu and Wangpéng all have older brothers.

> BXH., ERMEBEHEEE o
. Nelther Baiyingai nor Lishéng are my teachers.
>_ BHRZNFLHAEEAIZID o

. Wangsweng and Liyou have no younger brother.

> _FTENZFEREKBEHS o




BB/ AEE

% is always used to negate . However, to say “not all of ... have,”
we say T #BH rather than X & . Whether the negative precedes

or follows the word &P makes the difference between partial
negation and complete negation.

* Not all of them are Chinese.

-> I E 2P E A o
* None of them are Chinese.

> &S~ 2PE A .
 Not all of them have younger brothers.

> A EEHFE o

* None of them have any younger brothers.

> &R B H o
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GaowénzhOng
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= X

GaowénzhOng




A: HEZ  RREJL j"’
Baiyingai, nijia y6u ji
B BREAOA,

Wojia you litke

Sk A /LOA 3

Liyou, nijia you jikourén « g
A=EREEOA., EETas
Wijia you wikouren. Babg
L RESEBEMTATIIE?

« Ni baba mama zuo shénme QKGR0 7 *

o B: RBBEEM #Y 2 HE. wﬁ =

W baba shi ltshi, masas sh| yingwén l&oshi, gége, ou h|

A BEEERE fmx:“t:i'jfx
.‘ ATl 7 1 héng. P ;

daxuéshéeng.
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=4 V v Vv Y y
BXH V X Vv y y
= V X V V .
B x V y v )

1. E=E...7 (shuishi 7))
2. i’EE ? (shuiy(v)u o ?)
3. _ . _ M #HHFH.LE?

(_ . __ hé __ dOuyOu...ma?)

R IR



L 1 Lesson 2 finish[]



Di san k& — Shijidn
R N N
28 =120 8]

Lesson 3 -- Time



